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Notes: 1 Attempt all questions.
2. All questions carry equal marks.
3. Use of simple, non programmable calculator is allowed.
4. Use of mathematical table allowed.
1. Explain the function of National Sample Survey Organisation in details. 16

OR

Write an essay on 'Industrial statistics of India".

2. "Every averages has its own peculiar characteristics. It 1s difficult to say which average is 16
best. Explain with examples.

OR

Calculate Geometric mean and Hormonic mean from the following data.

Falmly : A B C D r 3 €; n ! )
! IncomeinRs.: | 85 70 10 75 | 500 8 42 | 250 | 40 37

3. Answer any two from the following question.
a) Define Dispersion. Explain the various methods measuring Dispersion. 8
b) Explain the various method of measurement of skewness. 8
c) Calculate the Rank co-efficient of correlation of the following data. 8

| v 50 32 45 40 30

d) Mean (Height) Standard Deviation 8
Father's 67 Inches 3.5 Inches
Son's 65 Inches 2.5 Inches

r=0.8
From above data estimate the most likely height of father whose son's height is 70
inches.
4. Answer any two from the following question.
a) Describe the addition and multiplication theorems of probability. 8
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b) Write the main rules of Calculations of probability. 8

¢) A has three tickets in a Lottery in which there are 3 prizes, and 6 blank places. B has 8
one ticket in a lottery in which there B one prize and two blank places. Who is better

chance to winning a prize?

d) In an examination 40% student failed in English, while 50% passed in Mathematics. 8

15% students failed in both subjects. Find out the percentages of those students passed

in both the subjects.

Answer the following question short compulsory. 4x4

a) State the methods of Sampling.

b) Calculate mean from the following data -

x=1.5.25,35,45,556.5,7.5,85

¢) Calculate probable error (P.E.)

n=8 r=0.6030

d) What is the chance that a year 2007 selected at randam will contain 53™ Monday?

LR R R R LR R

GUG/S/18/3578 2



M.A. (Part-I)(Economics)(with Credits)-Regular-Semester 2012 (Old) / (CBCS Pattern) Sem - |
EO-104 / MAECO115-A1 - Statistics for Economics-I

Time : Three Hours

Max. Marks : 80

T -

AW N =

. 9d e diedT.
e VT TATAT UUNT IR 372,

1. R T HAeToT HECA B Hd¥eR T TR,

HRAG 3N FiRkee! aTaR Haer ferar.

fohar

2. T HISAT STTUSTUC dfSTe) 319 BIVTAT HIed Fafd 3cd 3718 d 0T 6holuT 31T 3TERUaE

Y DA

fohar

Grellel Hifgdiaw Ul ATed d ERTcH HIEH BIaT.

16

16

ETSE

A

B

D

E

Jcdd OUdld:

85

70

75

500

42

250

40

37

3. WU Plura) &9 Je- Tisal.

31)  3UTHRUTIT T IT. O ATUUTIAT didel Ueae! T B,

§) fowwar srevarar fafaer vead we o<1

®) e Higdr a9 <& agdeer (Rank Correlation) e,

Z)

TENeT -

A :

q: 50 2 45 40 30
e (3 gAY R

67 5

65 5d

{=0.8

I FIfEAIae ISl 3 Hlel 3 Herra 30 70 F 319

a. GTelieTi e DHIoEATE] &1 Uil 3k 4.

GUG/S/18/3578

3) ST aRIST 4 IOTBR YWY T faee .

3

P.T.O



§) G T HRuar fHaw ferar 8

®) 37 3% A Tles] TddIe 3ed. D! aiF §eT g Tl WIell 3T 378d. ‘§ 570 U @il 8

TEohe 3T, D U §&T1 @ &I WTell ST 37T8d. axict aruidds! hIUTell SiTed §&ir foiduamt
THIGT 3784,

) URemed 40% famneit gyl fawara sl Siel. R 50% faemit wivra ar faward 3ol §iel. 8
15% fammeif arerel favaTd 3Rl e, Tao- aFe! TavaTd 3cirul Seted fqenedrel g
T 1.

MedTd 3} foreT s1<ard. 4x4

&) AT adea uead |,

§) G 3MhedRiasd el HIal.

&7=1.5,2.5,35,45,55,65,7.5 85

%) " fayw sren (P.E)

N=8,=0.6030

g &9 - ruceigR Nag oo TeiedT 2007 TT IuTd 53 AR 31U FHTST Wt BT,

GUG/S/18/3578 4



M.A. (Part-I)(Economics)(with Credits)-Regular-Semester 2012 (Old) / (CBCS Pattern) Sem - |
EO-104 / MAECO115-A1 - Statistics for Economics-I

Time : Three Hours

Max. Marks : 80

HT -

1. T AT HIETUT HaeH o BIdl ®f [dR 3 W dHiford|

" HRAI SiEN® HiRes! W v Hae ferfae |

. T gl B B DIt

. T gl & 37 9 &
ey, ST TS 0T TF BT FNT TR B S 2
. TITOTIT IRUTE! &I YA &R 3 SFA &

SRIdl

2. &R HTegH B! faRraard @) 1 DI J1eT T 3T &1 U BEdl HolvT &1 GIEeRl WK Bl

SRIdl

T o wifeett O 3MeIR R Ui #1ed 3iR eRTea HIed & 0T diford|

16

16

TRAR - A B C D E G H | J
RS 8 | 70 | 10 | 75 | 500 2 | 250 | 40 [ a7
o H:

—3. =1 Tara 7 @ dIg M a & Dol

37)  3TUTHRUT BT URHINT Bcb 3TD AU P [didel Ueaadl WK Bl ot |

§)  fouHar 3moTa o= ol Ueadidl W diford |

%) efeiad argars ¥& (Rank) Tewesr oo |

9y

g

50

45

40

30

O -
7

———

67 5
65 5

IR el g e & SR W Uar &1 SaTs Hadlferd | 37R 93 & 3aTs 70 39 &

GUG/S/18/3578

1=0.8

{71 FaTell 7 3 Big M &l Hael & dlord |

A fdaRor

3  HUIGdl &l 8RS 3R OTER w8y fave Hifsa|

P.T.O



§) GG U R & HaH ferRad | 8

®) 37 B UM wiedl Bl 9 fede 21 3906 J9F §6lg 3R © @rel SME 81 T & UMY Us dresl fede 8

21 399 v 571 iR &1 et SiE 21 39 2§ ¥ 169 suTer 987 e o g 2|
g) UReT H 40% faenelf siish fawar # srgwivl &1 oo 50% faeneff vt fawa & 3ol 81 15% 8

faomet ST fawa 7 sl €1 d a1 fawa # 3anvt faenedtal & wfcerd yamor Heied |
e H foRed | (3mawa) ax4
3) A Hae o uead ! gdrgdl|
§) o & M gt & 3R W Aved @ Mo Sifor|

&7=1.5,2.5,35,45,55,65,7.5 85

®)  GHTH fTYH B 3UH B |

N=8,=0.6030

g) od UeeigRI Tae Tl T 99 2007 | 53 AR 89 @ GHIGT 9T gNT?

GUG/S/18/3578 6



